EE/EHVP/Dn./Kalyan/ 667 Dt. 06:06. 2019

MAHATRANSCO

## MAHARASHTRA STATE ELECTRICITY TRANSMISSION CO. LTD. (CIN NO. U40109MH2005SGC153646)

Office of the Executive Engineer, E.H.V. Projects Division, Kalyan.

II<sup>nd</sup> floor, 'A' wing, 'Tejashri Bldg.', Jahangir Maidan, Karnik road, M.S.E.T. Co. Ltd., Kalyan (W) 421 301.

Tel. - 0251 2328540 / Fax - 0251 2201657

E-mail - eeehvcdnkalyan@gmail.com, ee7620@mahatransco.in

#### SRM Enquiry

Sub.:- Enquiry for the work of electrification of MSEDCL store shed at Manor, Dist-Palghar Dear Sir,

Please offer reasonable rates for the subject work as per the enclosed schedule 'A' & 'B'. The detailed scope of works is as given below. Please note the following.

| Sr.N | Particular  | Description  RFx No :- 7000013014  Enquiry for the work of electrification of MSEDCL store shed at Manor, Dist- Palghar |  |  |  |  |
|------|---|---|--|--|--|--|
| 1    | RFX No. & Name of Enquiry   |   |  |  |  |  |
| 2    | Enquiry Downloading Dates & time. Enquiry Sale period.                    | 06.06.2019 @ 19:00 (Start Date ) To 14.06.2019 up to 15:00Hrs (Submission Deadlin                                       |  |  |  |  |
| 3    | Date & Time (Hrs.) for online submission of Tender Documents.             | On or before 14.06.2019 up to 15:00Hrs  |  |  |  |  |
| 4    | Date & Time (Hrs.) for online Techno-<br>Commercial response Opening Date | 14.06.2019 (if possible)  |  |  |  |  |
| 5    | Enquiry Amount  | Rs. 2,98,328/-( Including all taxes)  |  |  |  |  |
| 6    | EMD Amount  | Rs.5,000.00/-   |  |  |  |  |
| 7    | Tender Fees   | Rs. 500/- (Excluding GST)   |  |  |  |  |

For further details visit our website :- http://srmetender.mahatransco.in

Contact Person: Addl .Executive Engineer, EHV Project Division Kalyan. Contact No. 9082239040

Note: All eligible Supplier / Contractors are mandated to get enrolled on SRM ETenders (New) portal of MSETCL.

**DUE DATE**: The RFx, complete in all respects, should be submitted between the period of 06.06.2019 to 14.06.2019 up to 15:00Hrs positively.

SCOPE OF WORKS: As detailed in Scope of Work 'A'& 'B'

#### **Terms & Conditions**

- 1) Scope of work: shall be supply & wiring of material as per schedule A &B attached herewith. The work is to be carried out as per instructions of MSETCL concerned authority.
- 2)Security deposit: The successful contractor will have to pay Security deposit amount 5% I.e.14920 /- of the total value of order by Cheque or by demand draft to this office.
- 3)The bidder should submit the following original documents / certificates through SRM.

#### Technical & Financial Criteria:-

Following required documents are to be submitted with enquiry:-

- A. Valid electrical contractor contractor license for undertaking the work.
- B. Registration under Shop and establishment Act.
- C. Pan No. & income tax returns filled in last 3 years
- D. Insurance under work men compensation act.
- E. The bidder must have executed such type of work as mentioned in the enquiry during 1 year in the last 3 years of about enquiry. The bidder should submit the performance certificate from the user in support of such works. The experience certificate from the authority of the rank of Executive Engineer or above in MSETCL or equivalent shall be submitted.
- F. GST registration certificate
- G. List of skilled persons, tech staff with experience & qualification etc.
- H. Constitution of the bidder's firm e.g. partnership deed, article of association etc.if applicable. In case of partnership firm, a letter by all partners authorizing any one or more partner/partners to deal with the board regarding the bid/contract.
- I] As per the circular published by corporate office in r/o exemption of EMD for SSI&NSIC unit, it is to indicate the following condition in field tender or enquiry is as follows:-
- "Firms /bidder has to pay E.M.D., for the same or not in following cases:-
  - I) If S.S.I./N.S.I.C. certificate do not indicate material/services required against present tender.
  - II) If turnover or manufacturing capacity exceeds the limit indicated in S.S. I/N.S.I.C. certificate specified by the concerned authority to avail the benefit of E.M.D. exemption. If required E.M.D. is not paid by the bidder, the offer is liable for rejection."

4]The undersigned reserves the right to reject any or all the quotation without assigning any reasons thereof. Any term and conditions found necessary at a later stage will be published Separately.

5]Liquidated Damages:-

- a) If the contractor fails to complete all the works within the time frame stipulated, the MSETCL shall levy liquidated damages for breach of contract.
- b) The Liquidated damage shall be levied at the rate of ½ % (Half Percent) on the total contract price per week of delay, subject to the maximum of 10 % of the contract price with 18% GST extra on Liquidity damage Calculated amount for the entire scope of the work. (for detail refer Circular no MSETCL/F&A/CA/DATE: 01.11.2018).
- 6]You will be covered under standard terms & condition contained in MSETCL tender & contract for the work.
- 7]Time limit allowed for the completion of above work is 30 Days from the date of handing over of site. The work completion shall be certified by the engineer in charge.
- 8]Quoted Rates:- The quoted rates should include the cost of material, all skilled & unskilled labour also the transportation charges etc.
- 9]Quality of work:- The contractor shall be responsible for quality of material & work man ship .The unused material/waste material should be removed from the site.The site shall be cleaned after work completion
- 10] Site Visit:- Information about the work given in specification is purely tentative & may change during actual execution as per site requirement. The vendor is advised to visit & examine the sites of work & their surroundings & obtain for himself, at his own risk & cost, all information that may be necessary for preparing the quotations & entering into the contract for this work. The cost of visiting the site shall be at the vendor's own expenses.
- 11]Insurance & safety:- The workers insurance & safety shall be covered by the vendor. MSETCL shall not be held responsible & will not pay for any accidents at site during works. It's the vendors responsibility to adhere to all safety norms during the works. Proper tools should be used.
- 12]Guarantee Period:- The contractor shall warranty/ Guarantee that, the material will be free from defects in material & workmanship for a period of 12 months from the date of final acceptance of works by MSETCL. Any defects developed due to defective materials &/or workmanship during testing & commissioning of equipment or during the gurantee period of 12 months from the date of fianl acceptance of work by MSETCL, shall be rectified or made good by the contractor at his own cost.
- 13] Validity of offer:- The offer should be valid for our acceptance for period of 60 days from the date of opening the same .
- 14]Jurisdiction: The jurisdiction of all legal proceedings/suits as regards to the works under contracts will be under Thane Dist. Courts in case of any dispute regarding any clause of the work order or works, the decision of the undersigned is final & binding on you.

15] Bill: The bill in triplicate should be submitted through Concerned Sub divisions & payment will be made subject to the submission of bills with required documents from you and certified by Engineer in charge. The Executive Engineer, EHV Projects Dn, kalyan shall make the arrangement of payment.

16]In case of such delay, the contract may be terminated by the competent authority as per general rules and regulations of MSETCL and the balance work, if any shall be got completed through separate contract at the risk and cost of the tenderer.

- 17]The work should be carried out as per standard and to the satisfaction of the Engineer-In-charge.
- 18] All tools & plants required for the work shall be arranged by contractor at his own cost.
- 19] The work shall be supervised by Addl Ex. Engr., EHV SS Projects Dn, Kalyan. The contractor should obtain a certificate from concerned Sub divisions for execution of work satisfactorily.
- 20] The quoted rates should be firm and should include all such as duties, all type of taxes etc. Also mention the SAP vendor number on quotation.
- 21] The undersigned reserves the right to reject any or all the quotation without assigning any reasons thereof.

Thanking you,

Yours Faithfully,

(Vijay B. Aware)

Executive Engineer, EHV Project Div., Kalyan.

#### Copy to:

- 1) The Addl. Executive Engineer, EHV SS Projects Dn, Kalyan
- 2) The Manager (F&A), EHV Projects Dn, Kalyan
- 3) Notice board

# MAHARASHTRA STATE ELECTRICITY TRANSMISSION CO.LTD. EHV Project DN. KALYAN

### ANNEXURE (A)

| Sr<br>No. | Material No. | Particulars of work  | Unit | QTY.    | Rate<br>(Exclusive<br>taxes) | Amount   |
|-----------|--------------|--|------|---------|------------------------------|----------|
| 1         | 500005989    | 1.5 mm² Multistrand Cu Wire<br>(Red yellow,blueFinolex,RR cable ,Anchore wire cable)   | Mtr. | 1080.00 | 18.00                        | 19440.00 |
| 2         | 500005957    | 2.5 Sq mm CU wire (2.5 sq mm X 2 core & 1.5 sq mm earthwire multistrand copper wire, fire resistant, from DB to switch board for lightening poly cab)  | Mtr. | 1300    | 25.00                        | 32500    |
| 3         | 500020857    | 6 Way PVC Modular Switch Board<br>(6 way modular switch board with surface box &<br>plate Pin socket anchore roma Great<br>white ,almec,legrand make)) | Nos. | 5       | 193.00                       | 965.00   |
| 4         | 500020858    | 12 Way PVC Modular Switch Board (12 way module switch board with model surface box & plates anchore roma Great white ,almec,legrand make)              | NOS  | 4.00    | 371.00                       | 1484.00  |
| 5         | 500003693    | 5A modular Switch (anchore roma Great white ,almec,legrand make)   | Nos. | 63      | 32.00                        | 2016.00  |
| 6         | 500003692    | 15a modular switch (anchore roma Great white ,almec,legrand make)  | Nos. | 1       | 60.00                        | 60.00    |
| 7         | 500002260    | 3Ph 4 way TPN MCB distribution board,KEW make.   | Nos. | 2.00    | 1611.00                      | 3222.00  |
| 8         | 500014903    | 2 pole MCB 32A with encloser   | Nos. | 3.00    | 1255.00                      | 3765.00  |
| 9         | 500007706    | 20W Single Tube Light Fixture(20 WATT LED street light fixture Philips make)   | Nos. | 3.00    | 404.00                       | 16160.00 |
| 10        | 500023734    | 2 Way 1"Ø 0.3" tk PVC Junction<br>(2 WAY MODULAR Switch board with surface<br>box & plate)   | Nos. | 20.00   | 105.00                       | 2100.00  |

|    | 00020854  | 5A 5 Pin Modular Socket<br>(5A 5 Pin socket anchore roma Great<br>white ,almec,legrand make)          | Nos.  | 16.00   | 40.00         | 640.00    |
|----|-----------|---|-------|---------|---------------|-----------|
| 2  | 500020855 | 15A 5 Pin Modular Socket<br>(15A 5Pin modular socket anchore roma Great<br>white ,almec,legrand make) | Nos.  | 6.00    | 116.00        | 696.00    |
| 13 | 500023854 | 1" pvc cashing patti , presto plast, Ashoka make  | Nos.  | 250     | 55            | 13750.00  |
| 14 | 500014894 | 1P 32A 220V DC MCB (Single pole MCB as per suitable Amp.)   | Nos.  | 5       | 180           | 900.00    |
| 15 | 500008796 | 3P 100A 415A AC MCB<br>(100A,3Ph 415 A, AC Main switch KEW make)                                      | Nos.  | 1       | 2500          | 2500.00   |
| 16 | 500012819 | 16" wall fan high speed orient ,Bajaj CG make   | Nos.  | 2       | 1850          | 3700.00   |
| 17 | 500023782 | 30WATT MINI LED street light with stand .syska philips Make.  | Nos.  | 10      | 2500          | 25000.00  |
| 18 | 500015879 | 100A Bus bar copper patti KEW MAKE  | Nos.  | 1       | 2300          | 2300.00   |
| 19 | 500023037 | 4"x4" PVC Box   | Nos.  | 50      | 10            | 500.00    |
| 20 | 500016109 | Celling rose  | Nos.  | 10      | 25            | 250.00    |
| 21 | 500002652 | Ceiling Fans, 240VAC, 1200mm sweep  | Nos.  | 10      | 1061          | 16010.00  |
| 22 | 500020867 | Exhaust Fans, 240VAC, 450mm sweep   | Nos.  | 1       | 4044.00       | 4044.00   |
|    |           |   |       | TOTAL   | 187/1651      | 152002.00 |
|    |           |   | 1     | 8% GST  | FULLIE        | 27360.36  |
|    |           | Si  | UB TO | TAL (A) | retail Litera | 179362.36 |

(Vijay B. Aware)
Executive Engineer,
EHV Project Div., Kalyan.

#### ANNEXURE (B)

| 1                                      | Service No. | Particulars of work   | Unit               | QTY. | Rate<br>(Exclusive<br>taxes) | Amount |
|--|-------------|---|--------------------|------|------------------------------|--------|
| 1                                      | 50012975    | Fixing Plug socket /Installation of 6 Amp plug point wiring   | Nos.               | 10   | 194                          | 1940   |
| 2                                      | 50000402    | Wiring 1.5sq.mm wire through Casing caping/Wiring 1.5 sqmm wire through casing capping PVC pipe   | point<br>s<br>(EA) | 60   | 327                          | 19620  |
| 3                                      | 50005466    | Installation of ceiling fans  | Nos.               | 10   | 117                          | 1170   |
| 5                                      | 50004276    | P&F 20W LED Internal Light Fixture Lightening fixtures/ installation of 20watt red light fixtures light   | Nos.               | 40   | 100                          | 4000   |
| 6                                      | 50012880    | Fixing Mains 2x2.5 E/w 1.5mm² FR Cu Wire Laying & termination of 2x2.5 sq mm cable/laying & termination of 2.5 sq mm x 2core & 1.5 sq.mm earth wire multistrand copper wire polycab meter | Mitr.              | 1300 | 55                           | 71500  |
| 7                                      | 50017541    | S&E 26-36W Lamp LED Street Light Fitting Fixing of 30watt LED Mini street light fixture   | Nos.               | 10   | 250                          | 2500   |
| 8                                      | 300002582   | Exaust Fan 240V AC, 450mm sweep   | Nos.               | 1    | 88                           | 88     |
|  |             |   |                    |      | TOTAL                        | 100818 |
| 18% GST SUB TOTAL(B) Grand Total (A+B) |             |   |                    |      |                              |        |

(Vijay B. Aware)
Executive Engineer,
EHV Project Div., Kalyan